’Z'€1000A4 1011sIaAd4aaaiqelieny | jo | abed 220z-990-9| : J0 se eleq

o¥'€82°'9.$ (pejewns3) eouejeg 4Qq@ pejedsojjeun

0v'€82'9.$ (00°000'01%) Buipuad 4aq lejoL
(00°000°0L$) paJsinbey suonezuoyiny LYOPPETOD suopneoo||y Buipued

0v'€82'98$ eouejeq 4ad [enjoy

0v'£82°98% (00°889°0.$) Buipung 4aq lejoL
(00889°0.%) 80.0¥£29A Buipun 108f0id

0’ LL6°9G1L$ (00°000°55$) peJisjsuel] 4aqQ lejol
(00°000‘0£$) pepund 4Aad - dd o1 Jajsuel|
(00°000'52$) pepun4 4QQ - SMOJ|84 8dedd O Jajsuel]

ov'1L26°112$ 06°188°¢9$ 2202 - 120z wol piemio Aued

05680°871$ 19285CL$ sBuluie] aJeyg pun Juswmopug a|qe|leAy Jo %0S

£8'9¢G'6E1L$ £8'9¢6°6e1L$ 0202 - 610 WOoJj SUOINGLIU0D 8JeyS pun4 [BNUUY JO %0S

eouejeq junowy uonduoseq uonoesuels |

€202 - 2202 JeaA welboid uj 0} LS 10uISIq Jod

10141S1d A9 4dd 319VI1IVAV Aiejoy



